Applications of Determinants					Name  _________________________
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7. [bookmark: _GoBack] Are the points (-4, 10), (0, 8), and (-20, 21) collinear?




8.  Find the equation of the line through (4,5) and (-2, 6)




9.  Are the points (-6, 10)  (2,5) and (-4, -7) collinear?




10. Find the equation of line through (-5, -9) and (0,6)




11. Find the area of the triangle whose vertices are (-4,1) (3,2) and (4,6)





12. Find the area of the triangle whose vertices are (4,-5) (3,-8), and (-1,3)





13. A surveying crew located three points on a map whose vertices formed a triangular area.  A coordinate grid in which one unit equals 10 miles is laid over the map so that the vertices are located at (0,-1), (-2,-6) and (3,-2).  Use a determinant to find the area of the triangle.
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1. Use the matrix A to encode the message: Happy Days
1 -2 2

’ ! ]

2. Use matrix A (below) to encode the message: Happy Birthday

12 2
A:’37‘]]

-1 -4 -7

Decode each of the eryptograms below:

1 2
3. Use the inverse of the matrix 4 l71 13 ] to decode the cryptogram.
1 -1 -4

21 40 14 2 -11 32 16 -16 66 15 -20 31

1 2 2
4. Use the inverse of the matrix A = I 3 7 9 ] 1o decode the following cryptograms:
-1 -4

a) 20 17 -15 -12 -56 -104 1 -25 -65 62 143 181

b) 13 -9 -59 61 112 106 -17 -73 -131 11 24 29 65 144 172

1 -1 0
5. Use the inverse of the matrix A I 10 3 ] 1o decode the following cryptograms:
2 1 -1

a) -15 3 <12 27 -10 61 11 1 38 28 -20 24

£)-20 9 -9 -14 1 -13 -19 7 -12 11 4 55 18 -18 0

©7-215-310-278-192 -1 31
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6. Decode the cryptogram: 129 -85 -38 -75 70 25 -9 18 3 188 -141 -58

13 -10 —
usmgA:[fﬁ 5 z‘]

3 -2 -




